

Business Phones for UCx



All of our phones are high definition, pre-configured and customizable. Ask us for more details on how to select the models that best suit your unique business requirements.

Poly VVX Phones

Poly VVX phones feature Poly HD Voice™ with Acoustic Clarity™ technology that provides full-duplex conversations, acoustic echo cancellation and background noise suppression to deliver life-like voice quality.

Cisco 8800 Series Phones

Cisco 8800 phones deliver the ergonomics, superior quality, and advanced features that your business needs to communicate and collaborate effectively. The 8800 Series provides an attractive design that's ideal for knowledge workers, administrative staff, managers, and executives. All models have been acoustically enhanced in hardware to deliver the best voice communications experience Cisco has delivered to-date in its IP phones.

Poly Cordless Phones

We've partnered with Poly to offer high-quality cordless IP phones suitable for use in your business location. Along with wireless convenience, these phones deliver the voice quality and rich feature set that you've come to expect from TPx.

Poly Conference Phones

The Poly conference phone collection is the gold standard for speakerphone technology that delivers the clearest sound to every participant, in every location. Poly innovations allow each conference phone to intelligently adapt to different room environments so everyone can hear and be heard, even when more than one person talks at a time.



Poly VVX 150

2-line, entry level IP desk phone

The Poly VVX 150 business IP desk phone is a high-quality phone that delivers reliable performance and enterprise-grade sound quality. It's ideal for home offices or shared/common areas, such as lobbies, hallways and break rooms.

Key Features

- 2.5" 132 x 64 monochrome backlit display
- Up to 2 lines
- Non-illuminated audio keys
- HD audio
- No USB port
- Two-port FAST Ethernet switch — 10/100 Base-TX across LAN and PC ports
- Automatic provisioning and setup by TPx



Poly VVX 250

4-line, entry level IP desk phone with color

The Poly VVX 250 is a modern, four-line, basic IP desk phone with color display, ideal for home office, SoHo and cubicle workers. It improves personal productivity by offering easy access to the most frequently used call functions, such as messaging, directory, hold/resume and transfer.

Key Features

- 2.8" color LCD screen (320x 240 pixel resolution)
- Up to 4 lines
- Illuminated audio keys
- HD audio
- 1 USB port
- Two-port Gigabit Ethernet switch — 10/100/1000 Base-TX across LAN and PC ports
- Automatic provisioning and setup by TPx



Poly VVX 350

6-line, mid-range IP desk phone with color

The Poly VVX 350 business IP desk phone is a high-quality, color IP phone designed for small-to medium-sized businesses. It's ideal for knowledge workers and call center operators who need to handle a moderate or high volume of calls, and whose work demands reliable connectivity.

Key Features

- 3.5" color LCD (320x 240 pixel resolution)
- Up to 6 lines
- Illuminated audio keys
- HD audio
- 2 USB port (rear and side)
- Two-port Gigabit Ethernet switch — 10/100/1000 Base-TX across LAN and PC ports
- Automatic provisioning and setup by TPx



Poly VVX 450

12-line performance IP desk phone with color

The Poly VVX 450 is a high-quality, twelve-line, color IP phone for businesses of all sizes. It meets the budget and communication needs of any business. It's loaded with sophisticated features that are traditionally found only on high-end desktop phones. End users will find that it features an attractive new ergonomic design.

Key Features

- 4.3" color LCD (480x272 pixel resolution)
- Up to 12 lines
- Illuminated audio keys
- HD audio
- 2 USB ports (rear and side)
- Two-port Gigabit Ethernet switch — 10/100/1000 Base-TX across LAN and PC ports
- Automatic provisioning and setup by TPx



Poly WX Expansion Module

Color Attendant Console

The Poly WX Expansion Module is an optimal solution for telephone attendants, receptionists, administrative staff and other power users who manage multiple workflows or simultaneous calls on a daily basis.

Key Features

- Extends the functionality of Polycom WX business media phones with multifunctional line keys that can be set up as line registrations, call appearances, speed-dials, direct station select or busy lamp field keys
- Seamlessly matches the look and feel of your VVX phone



Poly WX D230

Cordless DECT IP Phone

The Poly D230 Wireless DECT handset brings mobility to your office environment without sacrificing quality. Supporting the latest in HD Audio and a 10-hour talk time, it's ideal for anyone who needs to move around the office.

- HD audio to maximize audio quality and clarity
- Up to 8 lines & 8 simultaneous calls
- Up to 8 total handsets per base station
- Full duplex speakerphone
- 2.5mm headset jack
- Range: 100 feet indoors; 300 feet outdoors
- Automatic provisioning and setup by TPx



Cisco 8841

10-line IP phone

With the Cisco IP Phone 8841, you can increase personal productivity through an engaging user experience that is both powerful and easy-to-use. This model is ideal for knowledge workers and remote workers across industries and businesses of all sizes.

Key Features

- 5-inch high-resolution widescreen color display
- Up to 10 lines
- Two-port Gigabit Ethernet switch — 10/100/1000
- Dedicated headset port (RJ-9)
- Built-in IEEE 802.3at Power over Ethernet
- Automatic provisioning and setup by TPx



Cisco 8851

10-line IP phone

This business-class collaboration endpoint offers high-fidelity, reliable, and scalable communications for small to large enterprise businesses. Its USB port keeps your smartphone charged and lets you stay connected when you're away from your desk. An optional expansion module simplifies dialing and offers expanded status details.

Key Features

- 5-inch high-resolution widescreen color display
- Up to 10 lines
- Supports up to 2 expansion modules for up to 56 additional keys
- Two-port Gigabit Ethernet switch — 10/100/1000
- Dedicated headset port (RJ-9)
- USB port for headset connectivity/charging mobile devices
- Built-in IEEE 802.3at Power over Ethernet
- Automatic provisioning and setup by TPx



Cisco 8845

10-line HD video IP phone

Are you looking for a combination of reliable voice communications and an entry point to HD video conferencing? The Cisco IP Phone 8845 can deliver all of this and more. It's ideal for knowledge workers, administrative staff, managers, and executives, and is also well suited to shared workspace environments.

Key Features

- 5-inch high-resolution widescreen color display
- Integrated high-definition video camera: supports up to 720p
- Up to 10 lines
- Two-port Gigabit Ethernet switch — 10/100/1000
- Dedicated headset port (RJ-9)
- Built-in IEEE 802.3at Power over Ethernet
- Automatic provisioning and setup by TPx



Cisco 8865

10-line HD video IP phone

This phone is a great fit for small to large businesses seeking advanced, high-quality communications and an affordable entry into HD video communications. It delivers easy-to-use, one-touch collaboration with HD desktop video. Two USB ports help you to keep your mobile devices charged. An optional expansion module simplifies dialing and offers expanded status details.

Key Features

- 5-inch high-resolution widescreen color display
- Integrated high-definition video camera: supports up to 720p
- Up to 10 lines
- Supports up to 3 expansion modules for up to 84 additional keys
- Two-port Gigabit Ethernet switch — 10/100/1000
- Dedicated headset port (RJ-9)
- Two USB ports for headset connectivity or charging mobile devices
- Built-in IEEE 802.3at Power over Ethernet
- Automatic provisioning and setup by TPx

for 8851



for 8865

Cisco Key Expansion Modules

for 8851 and 8865 models

The Key Expansion Module (KEM) is critical for administrative assistants and others who need to monitor and manage the status of calls beyond each phone's standard capability. It adds 14 physical keys — with access to 14 additional keys using the page keys — for a total of 28 keys. You can connect up to two KEMs to the 8851 and up to three to the 8865. Each comes with a foot stand and all necessary hardware to connect it side-by-side to the base phone.

Key Features

- 3.5-inch graphical (TFT) color display
- 2 menus of 14 entries each, for up to 28 monitored users per KEM
- Illuminated buttons show each user's status
- Articulated display to match the same angle as the phone it is connected to

Phone comparison chart

	Poly VWX 150	Poly VWX 250	Poly VWX 350	Poly VWX 450	Poly VWX D230	Cisco 8841	Cisco 8845	Cisco 8851	Cisco 8865
Max Lines	2	4	6	12	8	10	10	10	10
Display	2.5" LCD grayscale	2.8" LCD color	3.5" LCD color	4.3" LCD color	2" TFT color LCD	5" color widescreen	5" color widescreen	5" color widescreen	5" color widescreen
Expansion Support	No	No	No	Color EM	No	No	No	Color EM	Color EM
Video Camera	No	No	No	No	No	No	Yes	No	Yes
Speaker phone	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Gigabit Ethernet	No	Yes	Yes	Yes	No	Yes	Yes	Yes	Yes
USB Port	No	1	2	2	No	0	0	1	2
Bluetooth	No	No	No	No	No	No	Yes	Yes	Yes
Wireless DECT	No	No	No	No	Yes	No	No	No	No
Weight	2 lbs.	2 lbs.	2 lbs.	2 lbs.	H: 0.272 lbs. B: 0.574 lbs.	2.6 lbs.	3 lbs.	2.6 lbs.	3 lbs.
Dimensions (inches)	9.5 x 10 x 2.2	9.3 x 9.2 x 2	9.2 x 10.3 x 2.5	9.5 x 10 x 2.2	H: 2 x 6.7 x 1 B: 6.3 x 2.75 x 5	9 x 10 x 1.5	9 x 10 x 3.9	9 x 10 x 1.5	9 x 10 x 3.9

Poly Conference Phones

Getting conference calls started shouldn't be hard, frustrating or time consuming. And with HD Voice technology, you can be sure every syllable is crystal clear.

Common Features

- 5" color LCD touchscreen display (720 x 1280)
- Three illuminated mute buttons (one on each leg)
- Integrated Power over Ethernet (PoE) for easy installation
- USB port to connect your personal devices
- Automatic provisioning and setup by TPx



Poly Trio 8800

Conference phone for any meeting space

The Trio 8800 is the conference phone re-imagined. Poly's NoiseBlock™ technology automatically eliminates non-speech background noise so you'll hear every word clearly.

Additional Features

- 20-foot microphone pickup; expandable with optional expansion microphones
- Two-port Gigabit Ethernet switch — 10/100/1000 Base-TX across LAN and 2nd port



Poly Trio 8500

Conference phone for small to midsize rooms

The Trio 8500 is designed for smaller rooms, but it's packed with big features like a large color touchscreen and noise reduction. And with HD Voice technology, you can be sure every syllable is crystal clear.

Additional Features

- 14-foot microphone pickup; expandable with optional expansion microphones
- Single-port Gigabit Ethernet switch — 10/100/1000 Base-TX across LAN